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import java.util.Scanner;
public class Testl
{
enum WeekDay {MONDAY, TUESDAY, WEDNESDAY, THURSDAY, FRIDAY};
public static void main(String[] args)
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{
WeekDay [] workDay = WeekDay. (1) 0;
Scanner keyboard = new Scanner(System.in);
double hours =0, sum = 0;
for (int i=0; i< workDay. (2) ;i) {
System.out.printin(“Enter hours worked for “ + (3) );
hours = keyboard.nextDouble();
sum = sum +hours;
}
System.out.printin(“Total hours work = “ + sum);
}

}
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Enter hours worked for MONDAY
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Total hours worked = 39.5
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int waitTime = 46;
try
{
System.out.printin(“Try block entered.”);
if (waitTime > 30)
throw new Exception(“Over 30.”);
else if (waitTime < 30)
throw new Exception(“Under 30.”);
else
System.out.printin(“No exception.”);
}
catch (Exception throwObject)
{
System.out.printin(throwObject.getMessage());
}

System.out.printin(“After catch block™);
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using System;
namespace ConsoleApplicationl

{
class Program
{
static void Main(string[] args)
{
Console.Write("3j- 5]» KPR E Y 93 ),
String s = Console. ReadLlne(),
Console.WriteLine(reverse(s));
}
public static String reverse(String s)
{
}
}
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